40.000
3.000
30.000
25.000
DL=20. 000
2 =) w [ <\ (=) iz
.. o e JE 0
B 9 €/ hse | 8 g/ \ &€/ =523 g
o siese \hsees } a3 TR i \'/ \ L=26.18 \ 4
% * E-]
r r r r
7 & £
T T T r T T T T
it ] L] s 8 ] H g g g g
1 ' 1 : 1 ' : -
" . 2 8 2 3 = 3 2 2
i B € € € g g g g
T T T T ;
g z 2 - 2 B g 3
B M BB = = 2 Ed 3 H B s
: ) ) ) )
8 3 3 2 = = 8 =
B j:) B S = B = = = = =
: ) . ) )
A & s g
T T T r r
1 -4
i ® ni,zsv 0. u.,kv. 185 e, .
1 56 1A=112-50-14
[0, CL=lol465  |R=1.0. 0L=13.785

E P

NO. 0+75. 043

L=32.5m

1.00 3.00
0:25 2.50 0,

$=1:100

1.00,

NO. 0+49. OfF3E

L=23.4m

$=1:100

NO. 0+35. 04ift

L=16.9m

5 250  0.25

.50
Br5 3
s=1:100
. 5
&
i
&
%
L
¢ o2
ok 03
Bo1g
S5
B+

NO. 0+11. 54if

L=22.2m

$=1:100

NO. 0+105. 043K

(CNO. 143) $=1:100

L=26.2m

3.00
0i25 2.50 0,25

KIOM - MFERIZ, FEEE Y-

As
C : imH

a7c&YERLEBEETSHS,

Ck: BEM - w8
B :#t

Cr : {RHI (18 8)
Br: Bt (HIBH)

IFAHME BL—b
R 5] KB

KIEBH: X 5} 2B R A R SE TR

2| TEE- 6D w6
o & RETHAM
# R| mm [® [
2|2 4 Bvom 1
Sf0 4 EEMES SRR

RIR L EHERRT




(W0

o501

50180

==

56200

62

(A

o5

o5

56400

=t

A

!
] ,, "
i
4 £ of i ”
L4 3 y ]

N

ROEE|[ER] 2T

vV

BEHIES

=

L
RE s| &8
mwmm‘ )
mmwxﬁz
AR
xmﬁgwm :
f el
| | = HaHE
wl $ i
E.iu
MX%:@_R m
Eh.4
E4EE]
|ﬁ "
®| &
ﬂﬂﬂ
2|58
£
.
H
®

56150

|

(1

s

56250

|

s

- 5830

s

56400

-]

P

St
=

2




DL=10.00

1S ITHERERYLE
D-@

DL=10.00

I A e8] u®
BH (£8) [c 2.8
®E |8 -

DL=10. 00

DL=10.00 _

13,10

E

25 THMABERELE
Cc

14,90

I &

BS| HE

A (L8)

Bt

4
B

B

iz 57
Fei2 70

25 THMABERELE

I

A (L8)

Bt

A

11,88
R0, 90

25 THMABERYLE

I f

A (L8)

w
©

Bt

@ o

DL=10.00

DL=10.00

ISIHEMERYLE
®-0®

G201
P12 80

I &

A (£

)

b
=

Bt

@ o

ISTHMERELE
2@-@

i1 o0
Fei2 46

3.00
0/25 2.50 0 25
|

5 R
£ 0

I

i

a0
o
e

RAI(L8)

Bt

@ o
|

NERMBER—/—ar—>avic&d.

wEs | X # o X
AR S AR LB B S T

% IEREBRTER

o E BERAAM

@R |10 [ mog | o

2 £ 4 EhoR 3

SH0 4 EEET BER

BRRLBEEBHR




FRIHEE

_EAL (1=3.0m)

$=1:50
2000 2000
TBIR (BR)
200362, 000
EiE BAKOIN L0 LI 200x36x 2000
g d .
R BAKG120 L=2.0n .
, s g
g \ /' B BAKS120 L=1.5n
7 NI _
XIETATICBR MR 7B L T
REBFHEMORME - TEEERETH &,
HHE 10m% Y.
& % noo® AL B =
E N -3 WAKSI120 L=4.0n ES 5
W WAKSI120 L=4,0n & 5
72 % HAKS120 1=2.0m Y 5
7 #H BAKSI120 L=1.5n ES 5
T B I 0.6x20x200m | B 75

ME%‘ X K

KAEBHEIR 5 RAAR AR IR R T %

B % E®TEEE
w E BRW K
# R | Bx [ ## ] wm
B = T LR
SF 4 FEEE AT BT

4
BERR T EHEBM




